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AHAERT 98 116 116 232 IBTHN 12,008 11,832 13,011| 24,843|%MET_TH 156 164 118 282 F RAHRT 548 688 751 1,439
ARYHT 214 198 222 420 FEIT=TH 140 135 123 258|  KIEHMX 3,209 4,055 4,172 8,227
JEBT 359 339 382 721 |5 EHT 250 283 303 586 #xMTIU T H 77 55 62 117
B 527 571 595 1, 166|fRiZENT 3,541 3,879 3,922 7,801 AHFHHX 9,923 10,790| 10,105 20, 895|Fl A T 322 458 472 930
& HHT 317 321 342 663| FrifHHT 191 211 232 443 A ET 201 295 315 610
FE M 283 254 257 511|z T 524 544 568 1, 112|Hrfny 1,054 1, 356 1, 391 2, 74T\ 5L — T | 656 800 928 1,728
)1 ET 120 121 129 250[TART 3,310) 3,638/ 3,704 7, 3428 H AT 366 434 467 901(HkILIET =T H 228 273 295 568
KAGHT 621 599 618 1, 217| HRHAT 3,076 3,505 3,626 7, 131+ 2mT 1, 665 1, 840 1,997 3, 837| AR/ Z=MET 623 783 826 1,609
$RmT 18 15 18 33| gy 546 634 626 1,260 H My 921 1,146| 1,131  2,277| L4 my 1,424 1,821 1,974| 3,795
FSHT 52 51 57 108 7 B HT 1,253 1,496| 1,550  3,046| #HremRHX 4,006  4,776] 4,986 9,762| FE/\iEHX 3,454  4,430|  4,810] 9,240
b= T 219 239 284 523| KARHT 156 159 178 337
drisET 81 65 65 130| A YRT 348 437 488 925| H-EFHT 2,632]  2,972|  3,100| 6, 072|% EET 453 500 551 1,051
JUREHT 112 102 116 218| ERIT—T H 336 412 425 837| K J\AHT 1,021 1,232 1,169 2,401 |ZEIFHT 279 372 377 749
HHET 146 105 104 209 HHIRET T H 416 485 470 955| /1N J\AHT 1,176) 1,426 1,441  2,867|H%H MET 737 834 857| 1,691
TREHT 80 58 80 138| ERIT =T H 415 489 493 982| IE@L=FHT 399 493 542 1, 035 HH BLmT 189 250 235 485
FFIHET—T H 158 148 181 329 HUERETIU T B 297 382 420 802| M EATYE—T H 44 43 17 60 % H T 1,004 1, 282 1,368 2, 650
FRIHET T H 120 137 132 269| IFRMIX 14,659 16,554 17,005 33, 559|RRMTPE T H 105 111 93 204 EHT 595 789 813| 1,602
FFAIMAT =T H 124 139 146 285 fErT—TH 246 218 273 491 A S 3,257 4,027 4,201 8,228
FRTHETY T H 144 175 182 357| AT 3,590| 4,096 4,269 8, 365| M T H 32 32 35 67
A FalT 440 447 517 964 T —T H 268 300 337 637 =T H 16 14 15 29| AP IT 5,390|  6,352| 6,515 12,867
=F: L 25 18 24 42| RT =T H 568 637 719 1, 356|HERATIUT H 119 125 119 244 JFHRT 168 225 253 478
iy 169 169 193 362( T kT =T H 847 889 979 1, 868|ULLMT 1,797 2,154 2,223 4,377 AEEFMHX 5,558/  6,577| 6,768 13,345
=R 46 32 47 79| HT 1,753 1,824 1,989 3,813 HJIHX 7,587 8,820| 9,027 17,847
T 176 154 191 345| FEpFHAT 1,437 1,566 1,642 3,208 RIRHT 407 527 576 1,103
RILHT 502 531 549 1, 080|ZLfHT 181 194 212 4064 R 471 518 609 1, 127|5XHHET 471 558 568 1,126
(=) 39 34 36 70|\ FHRHET—TH 468 522 501 1, 023 Al T 2,150  2,533| 2,499 5, 032|EEFHT 537 669 620 1,289
fEFHET 85 71 85 166\ TRIET =T H 353 368 406 TT4| R E T 218 290 314 60475 5 HT 127 161 142 303
HEAHT 41 40 45 85|\ FHRET=TH 423 474 510 984| &5 1,047| 1,233 1,338] 2, 571|#JFHT 512 722 731 1,453
FHET 256 241 246 A87[\NFARETIYU T B 382 437 503 940| IR HT 482 593 608 1,201 % HT 346 430 393 823
f=Lg 176 187 187 374 R X 10,270 11,307 12,067| 23, 374|HTE=HT 367 397 467 864 |t 4 0T 487 634 641 1,275
T bET 584 627 666 1,293 J\ T 2,068  2,571| 2,659 5,230 5, EHiX 2,887|  3,701| 3,671 7,372
R T 35 35 27 62| b peEpmy 2,168 2,524 2,638 5, 162|35 HHET 121 171 172 343
ST 521 514 583 1, 097|{&=BFERT 32 37 47 84 J\iEHIX 6,924  8,306| 8,666 16,972 LiHT 241 342 341 683
FRHT 26 28 31 59| k- ERT 3,363| 3,825 3,665 7,490 TERETHT 131 186 184 370
LT 201 181 185 366/ AL AZERT 347 421 468 889 f- 5 fi] W] 1,172) 1,443 1,461 2, 904| F75 HHET 136 203 194 397
JEET 185 165 200 365 2HT 618 628 663  1,291| F & ET 1,832 2,164 2,247| 4, 411| FHEHT 364 484 460 944
AT 368 356 387 743 TSP HT 1,102) 1,357 1,342| 2,699 [ T 788 941 990|  1,931|H EmT 281 428 415 843
R AT 40 35 45 80| Tz 3T 1,316 1,671 1,725 3, 396|dL/AfRET 405 456 517 973| P kR FHT 367 418 382 800
AT 1,590 1,637 1,810 3, 447| FHrEHT 896 1,143 1,130 2,273 X 4,197 5,004|  5,215| 10, 219[/\i%JERT 301 410 449 859
fi FE T 212 212 242 454 1% pAmT 398 476 484 960 ) | 1 (X 1,821 2,471 2,425 4,896
icLZLig 125 133 152 285| HHJEHT— T H 486 585 529 1, 114|7hHT 469 593 572| 1,165
F T 174 153 160 33| HEIT =T H 1, 397 1,501 1,797 3, 298| 45 HuHT 419 552 532 1, O84| A HIMT =/ £ 476 656 643 1,299
‘= IehT 194 186 249 435 HERT =T H 595 680 751 1, 431 (b Hr T 153 213 200 413| A VAIRTHE 427 572 563 1,135
Amy 187 159 203 362| HUEATIUT H 604 717 727 1, 44|47 710T 130 175 183 358| B HET KA 167 239 240 479
JEAHERET 65 56 31 87| WM 849 982 1,004 1, 986|111 1,121 1, 446 1,507 2, 953[ A HIHT K 118 157 165 322
A1) 345 358 428 786| Fi1HH £ Hr T 558 606 549| 1, 155|m Hri T 355 452 491 943| A THINT) 11 342 422 450 872
)1y 239 179 259 438(  fEEFHIX 14,729| 17,153 17,519| 34, 672| %R 431 540 567| 1,107 ATAHX 1,530 2,046 2,061 4,107
L1 FE T 110 103 107 210 FhlgrT 230 310 322 632
S1) 93 86 102 188| b/ sy 774 907 964| 1,871 EHHX 3,308/ 4,281 4,374 8, 655|5EHRHTPEHR 711 901 984| 1,885
Pu > T 36 43 39 82| ks Nty 444 565 629 1,194 FERHT S BT 85 107 123 230
el 42 54 49 103 kAT 2,961 3,091 2,706 5, 797| ERSHET 1, 140 1, 346 1, 366 2, T12| FEHRBTHA 2 IR 333 221 204 425
G mT 76 80 74 154 T/ EHT 2, 142 2,331 2,173 4, 504|175 KAHHT 280 390 398 788 | EEABHT K S5 863 1,182 1,218 2, 400
JHIAERT 240 248 279 527| T/ HT 1, 552 1,651 1,571 3, 222| LR T 602 809 829 1, 638 | FEARMT HH = 398 554 559 1,113
FEHAHT 405 360 398 758| HUAHET 1, 403 1,637 1,566| 3, 203| F AT 420 554 560 1, 114| ZABRT 2 1,225 1,569 1,628 3,197
i FH T 167 167 159 326|FkIT— T H 274 254 193 447| FPOREET 219 268 268 536 FEAPHT T 697 951 991 1,942
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M [ 330 509 505 1, 014| & FMT J7 1L 195 298 277 575
FEHRMT 202 297 288 585 i HEIT AR 444 615 606 1,221
FEPRETFT A (L 146 198 220 418 & HETH) 1 268 356 343 699
FEHRMT )1 413 539 578 1, 117| & T 500 731 684| 1,415
FEYRIT P 6 5 9 14| & HHT % 1 398 553 584| 1,137
FEHRMTAAAIR 832 1,189 1,199| 2,388 HMT % H] 99 149 159 308
FEGRET A i 1,513 1,962 2,043 4, 005| & HET 30 46 49 95
PR HE X 7,754 10, 184| 10,549 20, 733| & HET AR 288 417 430 847
EEaalp: 206 193 233 426
Sl ET 3,259 4,178 4,332 8, 510|FHHETHA 39 63 58 121
paislag 1, 455 1,813 1,970 3, T83| &5 HHT IR 13 13 19 32
5| FE T 423 569 632 1,201 HIHRT LR 371 530 547 1,077
3=t 1) 145 201 210 411 HBTRR 39 57 71 128
T faf v ] 236 280 269 549| & H-HT 1 129 179 168 347
77K T 73 112 111 223| EHMTH S 131 203 213 416
% JE[RIET 69 101 111 212| EHET/NER 341 470 481 951
B S HT 177 268 270 538| & HHT HAE 104 161 183 344
V5[ 5y HT 215 316 308 624 E HRT A I 169 225 214 439
b Iy 325 380 382 T62| & FHHT /N 210 315 311 626
T e AT 2,991 3,951 3,847| 7, 798|% ST EE 534 739 717 1,456
AT 1,127 1,401 1,416 2, 817| HEFHATEEE — T H 323 397 422 819
=AY 655 878 886 1, 764| MG T H 354 440 486 926
R AT 1,313 1,612 1,603 3,215\ HATEEEAE =T H 256 356 348 704
[iZ1=1a) 1,096| 1,386 1,346| 2, 732| MR 282 424 436 860
rh ELET 401 515 548 1, 063] & H-HT T B 93 129 140 269
PR T 583 780 800| 1,580 & FHMT |- HL 139 199 196 395
FEHET 485 609 673 1, 282|F AT O 59 92 93 185
RER X 15,028 19,350 19,714 39,064 #HFFHX 9,118 12,445| 12,673 25,118
iy 5,478|  6,270| 6,391 12,661
T b X 5,478 6,270| 6,391 12,661
R T 1,164 1,550/ 1,661 3,211
rh = AT 958 920/ 1,116] 2,036
= HET 455 628 613 1,241
B4 LT 112 69 97 166
R4 IHIRT 43 42 64 106
R ERT 358 540 548 1,088
LT 879 1,178| 1,252| 2,430
o L LT 668 922 916/ 1,838
- HLRRT 978/ 1,310/ 1,361| 2,671
AT 855 1,179 1,180 2,359
e T 675 926 956 1,882
FaHT 179 231 260 491
+- 3T 195 281 260 541
B PRHT 333 482 471 953
=Y FRET 105 138 138 276
[URLa) 120 166 170 336
R4 X 8,077| 10,562 11,063| 21,625
E R 628 796 807 1,603
IR E IR 1,164 1,431 1,464| 2,895
E R RAR 217 310 324 634
IR RAR 954/ 1,340 1,390 2,730
2 HEET/M 141 218 220 438 w A E 154, 782| 184,941| 190,473| 375,414




